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Requirements of Detectors for SAMURAI7Y

INRREE (RIEKE)

Superconducting Analyser for Multi particles from Radiolsotope Beams
with 7Tm of bending power



Setup for (y,n) reaction

plan view Zp=-4m

Pit wall

Rotatable
base \Q\ neutron hodoscope 4100

Beamline
Triplet Q

RI beam x W/

targe 5o

N \\\yf\\\“& dector —HdHHEHAES

150

-5m Om S5m 10m 15m
charged particles AlZ=1 A/Z=2 A/Z=3
250MeV/A 0.73GeV/c 1.45GeV/c 2.2GeV/c
00, +2.50, +50



Required Measurements

groups, range, accuracy

Target | 77
H, o SEREDEREENE Neutron
RI Beam Y(Pb/U) :Magneti'c:Fiel A\ [range] [accuracy]
PID SRR angle: +10°  ~several mrad
Energy —— — N velocity: 0.62 op /B ~0.5%
pOSlthIl/dlI'GCthIl L N
time-zero /NGNS +15%

........... efficiency: >70% (1n)

Light particle|(p,d,c....) +multiple neutron
y-ray

R max/Rmin ~2-3 250MeV/A A/Z=3
Proton Heavy Proj. Fragment
momentum:  0.7GeV/c o,/p < 1/100 momentum: R<2.2 GeV/c or/R < 1/700
+15% +few % o,/p < 1/1000 (d)
angle: +50 ~few mrad angle: < few® <few mrad
[range] laccuracy] charge: <50 oy ~0.2

velocity: 0.62 op /B~ 1073

[range] [accuracy]



Particle Identification (PID)

PID: mass A, charge(atomic number) Z

charge: z energy loss: dE[dx <(Z/B)’
momentum (Magnetic Rigidity): R=P/Z <«— magnetic analysis: P/Z = Bp
velocity:

B Time of Flight: T x1/B
+additional limitation: Q=Z (fully stripped) + primary beam energy

RI beam energy: <250 - 350 MeV/A
Mass number: < 100
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